o8

op

(l2 X b3+2 — a2b5

(@)az x (b%)?

a20

4x5 __

AP’ xa*t? =a*xa® =a

® (a®)?x (b*) = a®p?

@(a2)2 x (a%)?

©® ()2 x (1) = 290




@ 35 =
=95 =3"+ (375 =3




3. 2d°b® + (2ab)® & D3| FH A

1 1
D D 1 1
1 1
4ab? 4a2b?

1
2a2b3 + (2ab)3 = 2a’b3 + 8a’h® = —




|:| = 48x%y3 =
y3 =+ (=2x2y)2 =12
Xy




5. 7bEo] Zol7t (20)* , %017} ab , ALHA ] Hu7k 8042 < u
A29] Zol?

@2ab @ 20ab ® 8ab @ 2a%b ® 8a?b

B |

(2a)® x (M 22] Zo]) x 5ab = 80a°b>

(Al22] Zo]) = 80a°h? + (2a)* + 5ab
= 80a°h? + 8a® + 5ab
= 2ab




(Ax* =3x+1) = (=x®> + Bx+4) = 3x* + 2x+ C °|X A, B,C 9] &

247} 9 35 AL

® A=2B=-1,C=3 ® A=4,B=-1,C=5
® A=4,B=-5C=-5 @ A=2,B=5,C=3
@A:2,B:—5,C:—3

S5 ‘
(Ax? =3x+1) = (=x* +Bx+4) =3x2 +2x + C

Ax? —3x+1+x>-Bx—-4=3x>+2x+C

Ax> + x> -3x—Bx+1-4=3x>+2x+C

A+1=3 ~A=2

-3-B=2 ..B=-5

1-4=C ..C=-3




7. 8x—-2y+2=4dx-y-3 ¥ o, 2x -3y +1 = x o T3t 4
e Y

D -10x+16 @—mx— 14 ® 12x+16

@ 10x-14 ® 10x-16

B

8x—2y+2=4x-y—-3°]02 y=4x+ 50|},
2x—3y+1=2x—-3(4x+5)+1
=2x—-12x-15+1
=—-10x-14




@® 4x(-2)%=32 @ (-2)?x(-2)?2=-16
@)(-2)* x (-8) = -32 @ 9x3% =33

(
@ (-2’ x(-2)?=(-2)* =16
® (-2)2x (-8) =4 x (-8) = -32
@9x32=32x32=3*
® (-3) x (-3)3 = (-3)* = 3*




@ o (2= L
2
® 2—2:1

@Da+a®=a%5=a
® b0+ pl0 =1




10. 3%+ 3* 4 3" 7S] YeRH?

@3x+1 @ 33x @ 27% @ 3x+2 @ 3x+3

3x 3% =3+




@ x5 ® x'2




12.
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5 #7 g AL

oo

@ 6ab + 3a x 2b = 4b>
4 3
@ 20a3+5b=7a

@(—8612) +4da+a= —2a*
2

@ 12a2b = 3ab® x 2a = 8bi2

® 8a%b" + (-2b2)3 x (—a®b) = a*b?

® (-8a?) +4a+a= -2
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14. ofH AlofA -3x2 - 15 EHofloF &

& 22 WMEY ol 7x* +57F H AT
= AR A2 FshE?

O @x2+3 ® x*-3x-2
@ 4x* -3x -1 ® 4x?-x+5

B

old 22 Az} 5lH

A=(=3x*-1)=Tx* +5

A= (Tx2+5)+ (=322 - 1) =4x® + 4

. HEEA| AR A D (4x? +4) + (<322 - 1) =
2 +3




15, -3x(x-2y-1) = Ax> +Bxy+Cx& W], & A, B, CA A+ B+C
o] gh2?

@ -6 @ -5 ® 0 @ 3 ()6

(=3x) X x + (=3x) X (=2y) + (=3x) x (-1)
= —3x2 4 6xy + 3x
ZA+B+C=(-3)+6+3=6




16. (15x% +9xy) + 3x + (25y% — 5xy) + by & '

©4x+8y @ 8x+4y

@ 10x + 8y ® 14y

®

(15x% 4 9xy) + 3x + (25y% — bxy) + by
=5x+3y+5y—x
=4x + 8y




17. 2Ho 717, Al2o] Zol7} 2+t 24, 309 A& A ] K1) 7} 1245 -
24a’p el & |, Eol=?

D a-2b @ a-4b ® 2a-2b
@2a—4b ® 2a-24b

Aol =0l h
Ao Bl @ 24 x 3ax h = 124> — 24a%b
- 1243 — 24a%b

a2 = 2a—4b




® -2

6a® — 3a(a — b) + 4a>
= 6a® — 3a® + 3ab + 4a?
= Ta® + 3ab

e (3) ox (D)

76

16 16
1

16




19. x=2a-b,y=-3a+bd W, 2x -5y a, bol T3 222 ZF

e A9
® 19a-17b @19a—7b ® 19a-3b
@ 19a+ 7b ® 19a + 3b

B

x=2a-bO|BE 2x =2(2a - b) = 4a - 2b
y=-3a+b°|EZE 5y = 5(-3a + b) = —15a + 5b
2x — By = 2(2a — b) — 5(=3a + b)

= 4a - 2b + 15a - 5b

= 19a - 7b
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